
INDEX OF REFRACTION OF AIR 

This is atable of the index of refraction n of dry air at I S°C and apressureof 101.325 kPaand conlaining0.03% by volumeofcerbon dioxide ("standard 
air"). The index of refraction is defined by n = A,d Ad, where A is the wavelength of the radiation. The index is calculated from the expression: 

where a = I/ A, and h, has units of pm. The equation is valid for I,,  from 200 nm to 2 pm. 
The table also gives the correction (n - l)Ad, which must be added to the wavelength in air to obtain A,,. 
If the air is at a temperature t in OC and a pressurep in pascals, a value of (n  - I) from this table should be multiplied by 
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